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SECTION A

TG~ 19BN 77, 15 F971 4 & 13767 12 F971 & IR 1900 | Fd% Jo7 1 3% H1 3 |

Multiple choice questions, attempt any 12 questions out of 15 questions. Each
question is of 1 mark.

1. 3.TH.3IX. 1 g9 TYGCH BT 8
(37)  0-4—0-7 um
(@) 09-1um
() 0:8—30cm
(3 3-5um

Visible spectrum of EMR is between
(a 04-07um

(b) 09-1um

(¢ 08-30cm

(d 3-5um

2. i T ehTeT i 2Aferes wrafdd il 7 |
) B U

9) o vEl

e T

e TITH

~—"

9

~—

(
(
(
(

L&

Vegetation reflects more light in
(a)  Green band

(b)  Red band

(c) Near infrared

(d) Middle infrared
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3.  U.S&Y,3TR.TH.UH. HAGH hl [GWE 7 1

(31)  70-51.
(9) 188,
(d) 56T
(3) 14

The resolution of AWIF'S sensor is

(a) T70-5m
(b) 188 m
() 56m
d 1m
4. Wfass g yomelt (Sh.emE.wE.) % Henl 3 @ U i B 1
(a1) erfemraom
(@) "=
(|) e
(3) wHr=RE

One of the components of Geographical Information System (GIS)
includes

(a)  Capture
(b) Information
(c) Display

(d)  Contouring
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5.  gieafdes e G=HT & U2l H 3 § Ush IMHA 8

(31) TeRed

(F) TR efen
(@) R T
(®) fomst

One of the components of topological data structure includes
(a)  Proximity

(b)  Rubber Sheeting

(c) Buffer Analysis

(d) Images

6.  imifcreh gemT yomeh # S7he 3 B @
(31) A TaA
() Had ARAAT
(@) aUaeld 3R TeTaed gl
(8) Swfte @ g T

The data stored in Geographical Information System is/are
(a)  Only spatial

(b)  Only aspatial

(c) Both spatial and aspatial

(d) None of the above
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Torvaeamdt feufa-fafor yomeft (SH.dt.w.) 6t fagrgar 8 1
() 0554

(¥) 15-1004l.

(@) 1-5aH

() 209 — 1.

The accuracy of Global Positioning System (GPS) is

(a) 05-5m

(b) 15-100m

(0 1-5cm

(d) 20cm—1m

fovgeamdt TE=red IwE (ST.UA.Td.) Jumelt *1 GYh UST AWl g
STl (@) T e, e am 2 1

(3) TR

Global Navigation Satellite (GNS) System launched by United States of
America; is also named as

(a) Gagan
(b) Galileo
(e) Glossnass

(d) Navstar
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Torvgeardt fedfa-MaRor yomef! 1 3T ATHH T H o foaw foram ST 8

(1) haw feufa
(9) had HaTE
(@) feufq ofit S=mg ot
(7) SwE® A § IS TE

Global Positioning System is used in the estimation of
(a)  Only location

(b)  Only height

(c) Both location and height

(d) None of the above

FreEe 2 F1 fave (o) @
(31) 5.8

(¥) 0-8H.

(@) o054

(@) 254

Cartosat 2 has a resolution of
(a) 58m

(b) 0:8m

(0 05m

(d 25m



11.

12.

247

“iiiifereh T JuTTelt dehtehl 1 it @ & fredr i hed 8

(1) ZUIUTES i3, E.

(9) a9 Sfi.3mE.uA.
(@) HieTse Sit.3TE. U,
(8) U Sft.7s.uE.

The expansion of Geographical Information System technology from

offices into the field is called
(a)  Enterprise GIS

(b)  Web GIS

(c) Mobile GIS

(d)  Open GIS

., ., T, 3R . 9vg & fSeent s foman Sram @

(31) oo TR |
(%) i Sy |
(@) g eew |
(@) faemd

C, S, L and P bands are the used in
(a)  Visible spectrum
(b)  Thermal spectrum

(c) Microwave spectrum

(d) Lidar
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13. ¢ & fe@r wSn, e 31t ve yfafars &

() wwg

(@) <«

(@)  =rem

(®) W@

Flood areas will appear, in near infrared band image as
(a)  White

(b) Red

(c) Black

(d  Grey

14. 9Rd gg Hogd (ME.AR.TH.) IWE Yol % @R AR <ok oFlal g,

(31) WA gl
(@) 94 & qfe=m
@) <l g I
(3) vufrem @ gd

Indian Remote Sensing (IRS) Satellite rotates around the Earth in the
following direction :

(a)  North to South
(b)  East to West
(¢)  South to North
(d) West to East

15. 8¢ I9us Tnfua femam man g, fafefiga = w

(1) 1000 ferrt

(/) 20000 ferrft

(@) 650 fortft

() 35000 forrft

INSAT Satellite is placed at a height of
(a) 1000 km

(b) 20000 km

(¢) 650 km

(d) 35000 km
247 8
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SECTION B

T: Y991 7 & 5T 9 J991 & I 0 | Yok Y97 & @1 37F & /

Attempt any four questions out of six questions. Each question is of two marks.

16.

17.

18.

19.

20.

21.

A=A S Il Fahieh (TR, ) 91 7 ? ¥ hiT | 2
What is Normalised Difference Vegetation Index (NDVI) ? Explain.

‘AT YU HelgA Aeg <hl SATEHT HIVT | 2
Explain the term ‘Thermal Remote Sensing’.

WITIfoTeh AT JoTTeht (3715, TH. ) &RI1 3Taweeh & ? ¥ Shifoy | 2

Why is Geographical Information System (GIS) needed ? Explain.

AT J89 T 7 AT 8 2 T899 o foheal o TehRI ol Iooid ShifaTy | 1+1=2

What is map projection ? Mention any two types of projections.

Torvareamdt feafa-faftor yoedt (Sh.dtwm.) d Bafydewar @ @« st 2 2 2
What is trilateration in Global Positioning System (GPS) ?

fovgeardt feufa-fafor gomeft (Shi.dtug.) &t afergar #t gwifad @ a@
hehi bl TS HITTT | 2

Explain the factors affecting the accuracy of Global Positioning System
(GPS).

g us 1
SECTION C

T@Id I § & 61 gia 941 @& 3o 97 | i J97 & d1 3% & |

Attempt any five questions out of seven questions. Each question is of three marks.

22,

23.

247

e, A AR Feata 1 fafire wadedr o @ifa ok s hifse | 1+1+7=3

Draw and explain a typical reflectance curve of soil, water and
vegetation.

aveT @ w7 thim B 2 sHes 9R fafim yorl 1 Seai@ il | 1+2=3

What is resolution ? Mention its four different types.
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24. vidifors dalg foh8 ad 8 ? Talg 1 qohrlehi hl SATEAT HIWT | 3
What is image enhancement ? Explain the enhancement techniques.

25. SgA U T ® Wit T Jumel! (S.eTE.TE.) fohe YR wemar S
8 ? 38 I3 g1 A Ty | 1+2=3

How does Geographical Information System (GIS) help in better
decision-making ? Write any two advantages.

26. Wit T YoTert (SH.37E.TH.) H STeT i fohd TR TAMIARA fohal SITal

8 ? ¥ HINT | 3
How is data transferred into Geographical Information System (GIS) ?
Explain.

27. TGepfifa sttt deash (A.318.19.) #4118 2 T i | 3

What is Triangulated Irregular Network (TIN) ? Explain.

28. OX % FD WM H HIH gE I Tl @ 2 | G "G H1 36k IWE Hl FA
4§ forg Jehr 9T foRaT ST Hehal @ 2 TS hifvT | 3

There has been severe drought situation in some parts of the country.
How can remote sensing be used for mitigating its effects ? Explain.

Qs ¥
SECTION D

1A I97) 4 8 fbeg] qier Jo41 & IR 7 | 9% J97 & qid 3% & |
Attempt any five questions out of seven questions. Each question is of five
marks.

29. ofa (vfafera) sffertor @ s AU B 2 30 UMM il SAREn HIT | 1+4=5
What is image classification ? Explain its approaches.

30. 3T AThsi o g kU o for fafra awi i samen Hie | 5

Explain the various elements for visual interpretation of satellite data.

31. YA GG HAGH R § ? T HIN | 5

What is microwave remote sensing ? Explain.
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32. doet ST LEAT T & 2 3Heh! TfEATeehl, &9 3T BIHAT ol T4 hifw | 1+4=5
What is Vector Data Structure ? Explain its topology, advantages and

disadvantages.
33. ot Afufm wm g 2 wex sfufw et dw sifufm w1 T
HIT | 142+2=5

What is spatial overlay ? Explain Raster overlay and Vector overlay.

34. I favawor @ w1 U™ B 2 TshdIdl o AT H IAg fRE TR Iwwil

87 2+3=5
What is buffer analysis ? How it is useful in the study of cyclones ?

35. Y Hogd (JR.UH.) dA1 Hilifctsh Fa1 Yomell (S.3718.T8.) I 16 Ja9q
AT H TohT TR 3TN T3t ST Hehdl B 2 TS hifST | 5

How can Remote Sensing (RS) and Geographical Information System
(GIS) be used in flood management studies ? Explain.
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